29.4.12

D0 MYRID'T VYR ORI nnan noon MIA AT TINHD My BT

500 (177 73wp) 2 510 (197 WY AN A1I0)
note: the 7717 commands that we bring a Amp with 0298 0219 and p2waz; for 19, 3 jrwyand Va2 piof oil (=6 p15); for rams, 2 vy and
1/3 pir (=4 pn5): in both cases, 2 115 per 1wy, for lambs, 1 privyand Y pia—ie. 3 noper vy

» ) RIp1 127V ANIXONI 1922 AIPXDN TRD INIn ]'l?b NARN NPYY INR NWRN D2 ny 122 R 1712 IR 13 0T

7,7 4777717 TFPY 17 10 DR9 NNYR TPER MRIN N23I0 NYYH 19W2 NI oY 2

I 1nmwn:a”omoan (v. 1)

a

b

bringing: not brought in halves; rather he brings a full 1wy in the morning and divides it in half; 2 now, V2 »"na
if: »na offered his half and died and they appointed a new »"
i he does not: bring a half, nor does he offer the 2" half of the (deceased) 3"n3’s gift
ii  rather: he brings a full 1wy, divides it in half and offers half; other % plus remaining %2 of the morning are “lost”
source: v. 1 —had it said r>xnn nnin, we would have allowed V2 at each time
i and:if the second half becomes &nv or lost, must bring a full 1wy and divide and bring half of it — nYwn n¥nn
ii  therefore: if 3”3 dies in the meantime, new »"> must bring full Ny etc. as per mwn — DHwN N¥NN
observation (X before 279): the unused halves are allowed to rot and are burnt
i 277 why does 2" unused 2 require nM¥ M2’y — was never going to be used

1 answer: follows MaR 72 117 227 RN — even Y100 requires N N2y before it is burnt

2 counter (’wN "): even 1121 would agree; since when they split the 24 vy, either half could be used, »mnm

I Procedure for making »" 'n»an

a

sequence: dispute whether baked first and then fried (j3m ’7) or the inverse (®11n ")
i basis: v. 2 —>ran; may mean nR) narn (bake first) or Ry Norn (meaning “raw” —i.e. fry first)
ii  follows: dispute »27/D'non with same interpretations and applications
1 note: in that Rn»13, »ov "1 offers third option — n21 Narn (lots of steps — bake, fry and re-bake) —Ry and nxa
location of process: »:X mnin — kneading, laying out and baking all take place inside (n71y) and are done on naw
i sourcel (for baking on maw): »»an > nR1 narn; if made the day before, it loses its fresh taste
1 challenge (901 27): let him cover it with vegetables (e.g.) to keep it fresh
ii  source2 (»3370): v. 2 — NWYN — even N1wv1, even RNV
iii  source3 (»an): v. 1 stipulates Tnn —just as Tnn is offered on naw, so o'n»an are baked on naw
iv  source4 (827):v. 2 stipulates nann 5y; since it’s made in a 93, rule of n»Y attaches
1 support: Rn»71 reads nann Yy, teaching that it requires a 3
amount of oil (continuation of ¥177273): 1nw1 (v. 2) indicates that oil must be added
i infer from o201 nnap (also 1pw”): 3 P15 per NIVY
1 however, we might argue: infer from naT nnan — 1 1%
2 analysis: more similar to 0’201 NNIN — LYIN (NRMIV ,NAV ,NAIN IR ,TN)
(a) counter: similar to naT nman — Y ("MNaY 17 ,nRRY Ho3a ,1M)
it 37277 5w 123 S8vpw? 7 PN NMan nYo — just as nman for Pnn has 3 PNY per 1YY, same here
iii @ both here and in w13 nmn, the NN “increases” the 1Y (here — by extra mention in v. 2) = 3 pnY
1 however, we might argue: in 09X 018 NN, it is 1 N5 per NWY (see note above) > 2 nY
2 analysis: more similar to 02> nnan, which is 1 wY; unlike ©'5°R B9 Nnan which are 2 and 3 DMWY
contradiction within »n»»72: begins by identifying "jnw” as adding, then invokes possibility of inferring from nam nnin
i answerl (7aK): 1nw1 is taught by v, arguing ”... 1R 8Y WR” 272 YW 112" responded with 1pw:1NY
it answer2 (»*17 7772 A1777 77): all »"; 1w must be adding; for nann teaches that there must be some oil; or w/o nw3,
R"10 that it would be like X0 nman (no oil); but can’t be inferred from R»7 (due to alternatives available for infer-
ence) = AN "MN Nov provides amount
iii answer3 (737): all w™; 1WA not needed to require oil ("Nann”); therefore v is employed but it fails (due to alterna-
tives available) then he entertains 0’%’®) 04 nmin and rejects as above.
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